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QUESTION 1

The Carbon Footprint comprises two parts. Which of the following is part of the secondary footprint? 

A. Travelling to the office. 

B. Opening a spreadsheet. 

C. Recycling a server. 

D. Printing out a report. 

Correct Answer: C 

 

QUESTION 2

Why is effective change management key to the success of a Green IT programme? 

A. Rapid adoption of change can reduce productivity. 

B. Extended change can lead to increased project costs. 

C. Cultural resistance to change is a major project risk. 

D. Individuals can gain too much control of a change project. 

Correct Answer: C 

 

QUESTION 3

How can you ensure all stakeholders are informed about the process of your Green IT programme? 

A. Develop a Risk Management Strategy. 

B. Create a Communications Plan. 

C. Produce a Stakeholder Competency Assessment. 

D. Maintain a Stakeholder Map. 

Correct Answer: B 

 

QUESTION 4

What is the best definition of a Carbon Footprint? 

A. The amount of greenhouse gas emitted within a defined geographical area. 

B. The amount of greenhouse gas emitted by an organisation. 
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C. The amount of greenhouse gas emitted by one person in one year. 

D. The amount of greenhouse gas emitted minus the amount of carbon offsetting. 

Correct Answer: B 

 

QUESTION 5

Which of the following types of computing can deliver economic value to a Green IT project? 

a.

 Grid. 

b.

 Matrix. 

c.

 Cloud. 

d.

 Lattice. 

A. 

a and c. 

B. 

a and b. 

C. 

b and c. 

D. 

c and d. 

Correct Answer: A 
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